[1Ba kona

var x1,yl,rl,x2,v2,r2, d:real;

begin
readln (x1,vyl,rl,x2,vy2,1r2);
d:=sqgr (x1-x2) +sqgr (yl-y2);
if (x1=x2) and (yl=y2) and (rl=r2) then writeln (-1)
else
if (sgqr(rl+r2)=d) or (sqgr (rl-r2)=d) then writeln (1)
else
if (sqr(rl+r2)<d) or (sqgr(rl-r2)>d) then writeln (0)
else
if (sqr(rl+r2)>d) or (sqgr(rl-r2)<d) then writeln (2);

end.

Hosa wada

program E76;

var a,b,c,x,y,z:real;

begin
readln (a,b,x,v,2z);
if ((x<a) and (y<b)) or ((x<b) and (y<a)) or ((z<a) and (y<b)) or
((x<a) and (z<b)) or ((y<a) and (z<b)) or ((z<a) and (x<b))

then writeln (1) else writeln (0);

end.

Typuct

program E206,
var k,w,al,a2,a3,bl,b2,b3:integer;
nl, n2, n3, n4,
ml, m2, m3, m4 : longint/,
begin
read (k,w) ,
read (al,bl,a2,b2,a3,b3);

ml := al + a2, nl := bl + b2,

m2 := al + a3, n2 := bl + b3,

m3 := a3 + a2, n3 := b3 + b2,

m4d := al + a2 + a3, n4d := bl + b2 + b3,

if ( (al<=w) and (b1l>=k) ) or
( (a2<=w) and (b2>=k) ) or
( (a3<=w) and (b3>=k) ) or
( (ml<=w) and (nl>=k) ) or
( (m2<=w) and (n2>=k) ) or
( (m3<=w) and (n3>=k) ) or
( (m4<=w) and (nd>=k) )



then writeln ('YES')

else writeln ('NO") ,

end.

OOMmiIH

program E407;
var
m, k, i: longint;
begin
readln (m) ;
for i := 1 to m do begin
readln (k) ;
if (kmod 3 = 1) then
writeln ('VGC');
if (k mod 3 = 2) then
writeln('CVG'");
if (kmod 3 = 0) then
writeln('GCV');
end;

end.

PiBeHb HaB4YanbHUX OOCATHEHb

program E902;

var x:integer;

begin
readln (x);
case x of
1,2,3: writeln
4,5,6: writeln
7,8,9: writeln ('Sufficient');
10,11,12: writeln ('High'");
end;

("Initial');
(

'Average');

end.

[TapHi | HenapHi Yncna

program E1623;
var
a, b, c: longint;
begin
readln( a,b,c);



if ((amod 2 = 1) or (bmod 2 = 1) or (c mod 2 = 1)) and
((amod 2 = 0) or (bmod 2 = 0) or (c mod 2 = 0))
then
writeln ('YES")
else writeln('NQO"'") ;

end.

HaneXHICTb TOYKU BIgPI3KY

program E2134;
var x1,v1,x2,vy2,x,y:real;
begin

readln (x,y,x1l,vyl,x2,y2);

if sqgrt(sqgr (x1-x)+sqgr(yl-vy)) +sqgrt (sqr (x2-x) +sgr (y2-y))=sqrt(sqr(xl-
x2) +sqr(yl-y2))
then writeln ('YES') else writeln ('NO'");

end.

Cyma HenapHux ymcern

var
sum, A, B, count : into64;

BEGIN

readln (A, B);

if A mod 2 = 0 then inc(A);

if B mod 2 = 0 then dec (B);

count := (abs(B - A) + 1);

if count mod 2 = 1 then inc(count);

count := count div 2;

if count mod 2 = 0 then

sum := (A + B) * (count div 2)

else

sum := (A + B) * (count div 2) + (A + B) div 2;

writeln (sum);

END.

Hoga rpa Ceprinka

program E1657;

var x1,yl,x2,v2,x3,y3,x4,v4,x,y:longint;

begin
readln(xl,yl,x2,v2,x3,y3,x4,v4,%x,Y);

if (x3 < x) and (x < x4) and (y4 < y) and (y < y3) then



writeln ('SAD")
else
if (x1 <= x) and (x <= x2) and
writeln ('HAPPY')
else writeln('SAD'");

end.

[lepLua 4m ocTaHHA?

program E903;
var x,y,z: integer;
begin

read (x) ;

y:=x div 100;

z:=x mod 10;

if y>z

then writeln(y)

else if y<z

then writeln(z)

else writeln('=");

end.

(y2 <=vy)

and

(y <= vyl1)

then



